
I WR; cit-1~ I 

Gt ~ -q ~ ;mo w-:f rot~~~~~~ c;);ft -q ~~I 
JAftGql( "<ffi ~ ~ w-it ~ "3m: ~ ~I 

A-BRL-M-FMFA 

~~ : 250 

~ tf&:n 1 ~ 5 ~ ~ ~ fi w-it -4 ~ ~ ~~ Cl1ll-~-Cfili ~>IT-T~ "df.t ~ t 3ffi: ~I 
~~/\WIt~~~~ "ffiiH rot~ ~I 
m;Tt t "3"ffi: ~ ~ m~ it fu@ ~ •· ~ ~ ~ m -l:Bf -4 fcn<n ll<:fT ~ . 3fu ~ m~ Cfi1 ~ 
$ ~-mt-dffi: (~o mo ~0) ~ t ~ 1R ~ ~ ~ M ~~I mf~ liT~~ 31fuftu; ~ 
M l1TUfq -q fu@ ~ ~ 1R ~ ~ ;nft ~I 

~ ~ m, -m ~ ~ Cfil ~ ~ o~ ~ ~ ~ ~~ 
~ 3fu ~ ~ "5Rifffir 31~ t, ~ ~ 3Ff~ ~ ~ ll<:fT m 1 

w.fl t >l<ffi11 ~ TiURT $flqi:!B I{ ~ ~I ~ ~ ~ ~ ~ w.ft ~ ~ "<ffi ~ lTPRfT cfi ~ ~ "3if C"fil'll ~ 
ll<:fT m I m -mt-"3"'01: ~ ~ mffl ~ ~ ~ ~ 31?.1Cfl ~ ~ \WI q;) Tfo: q1fl ~I 

ELECTRICAL ENGINEERING (PAPER-I) 
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QUESTION PAPER SPECIFIC INSTRUCTIONS 
(Please read each of the following instructions carefully before attempting questions) 

There are EIGHT questions divided in two Sections and printed both in HINDI and 
in ENGLISH. 
Candidate has to attempt FIVE questions in all. 
Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be 
attempted choosing at least ONE question from each Section. 
The number of marks carried by a question/ part is indicated against it. 
Answers must be written in the medium authorized in the Admission Certificate which 
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the 
space provided. No marks will be given for answers written in medium other than the 
authorized one. 
Assume suitable data, if considered necessary, and indicate the same clearly. 
Unless otherwise mentioned, symbols and notations have their usual standard meanings. 
Attempts of questions shall be counted in chronological order. Unless struck off, attempt 
of a question shall be counted even if attempted partly. Any page or portion of the page 
left blank in the Question-cum-Answer Booklet must be clearly struck off. 
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~-A / SECTION-A 

1. (a) ffi 1 it n-Y >rfffi:?.fl'R CfiT m ~ ~ a om d <?p llUT >rfuittr mff ~I 

Using !1-Y substitution, determine the resistance between a and d, in Fig. 1. 10 
a 

d 

(~) Fig. 1 

(b) Fr:f 2 it 1:% Cl1i Wrr en1 -qm:r o ~ n ~ ~ arm fcFiin TJ<TT t f(t) = 2 ~ wu om ~ n ~ 2n ~ 
~ f(t) = 0 <?p IDU I 'il(t:mJi4i'l ~T it ~ ~ ~ enT ~ ~I 

Figure 2 shows a square wave that is described through the range from 0 to 1t 

by f(t) = 2, and through the range from 1t to 2n by f(t) = 0. Find its Fourier 

components in the exponential series. 

i f(t) 

0 1t 2n 

(m) Fig. 2 

(cJ fcptfi ~ en1 1:% ~ ~ B ~ ~ am ~ iW:n ~ t, ~ ~ m <?p ~ 

~ ~ ~ ~ ito B ~ ~ Q ~ ~:~ Cfl( WIT ~ t I ~ "5IWT ~ ~ 

~ ~ q;r ~ q t OGf ~ fcf; ~it -:q{ll ~ Q·q t l 
Q-q 

A conductor is charged by repeated contacts with a metal plate which, after 

each contact, is recharged to a quantity of charge Q by connecting it to a 

constant voltage source. If q is the charge of the conductor after the first 

10 

operation, show that the ultimate charge on the conductor is Q· q. 10 
Q-q 

(d) ~ tifsh<l l("l'lCfl )IC{$t; (OP-AMP) CfiT m ~ fcfiBt >ltl$n CfiT 31['~ ~ ~ ~ +5 

m1 ~ ~ fcf; Ri =101&. 

Design an amplifier with a gain of +5 using one OP-AMP. Choose Ri = 10 kQ. 10 

2 



(e) (i) ~WftCfi{Uicnl~~~~-~~~~~11Tun:rlt~-w:fl-~Cfil 
~';ffl1~~~~-q~l 

Write the Maxwell's equations including the continuity equation in vector 
form for time-varying fields in general medium naming each of them. 5 

(ii) ~fstl'41("liCfi >rq${l (OP-AMP) ~ ~ f.:rR ~ <fit -qftmq-r ~ : 

~ 3-t~ ~; "¢Wm 'UW; ~ ~; f.rfu >Tfucrrm; CMRR. 

Define the following parameters for an OP-AMP : 

Input offset voltage; Bias current; Slew rate; Output impedance; CMRR. 

5 

2. · (a) ffi 3 -q ~ ~ ~ ~ ~ <n: urR ~ : 
Consider the unbalanced Wheatstone bridge shown in Fig. 3 

E t 
10 v 

(ffi) Fig. 3 

~{ia'114lc:c<i1r ~ >rftm~ 1 3Wr ~ 1 ~-~f.r.nr~ cnnrmTT ~ ~ ~ (VL~ ;fl101lc:nmr cnP:rR mo ~ 1 

The intemal resistance of the galvanometer is 1 ohm. Using Thevenin's 
theorem, determine the galvanometer current. 20 

(b) "@:n;fi fcffu Cfi1 m <ffit StJ. m 4 it mu I Cfi1 lfR mo ~ 1 

Determine the current I in Fig. 4 using the ladder method. 20 

2.Q a b c ·1 Q 

l.Q 2.Q 
I 

Vg 

10 v t 200 .Q 50 .Q lOO.Q 10 .Q 

1.Q 

a' b' C' 

(ffi) Fig. 4 

3 [P.T.O. 



(c) ~ 5 il ~trrful C1 ~ 31Ti'I.T il 100 v 'R ~a~ lFfl ~ am ~ cir.TI ~mftf 3W~ it 

~ ~ ~ l ~ S Ci1T t = o ~ 1R a:iG fct><rr ~ t 1 >rffii'ter -ij if ~ cmvfi mu CfiT ~ ~ 

~ * ~ it W<1 cfilf~ I 
In Fig. 5, capacitor (1_ is initially charged at 100 V ar1d the other two capacitors 

are initially uncharged. The switch S is closed at time t = 0. Find the current 

flowing through the resistor as a function of time. 10 

500Q 

R 

1 ~; T~.-_____ l_:_F_T.._ __________ ___.T ~:F 
(fu;T) Fig. 5 

3. (a} ~ ~ cWT z - 3115 ~ wffiR cfR1 ~ ~ ?ftiim=qq:; mrrm ll ~ m ffi ~I ~ 
'R ~ "Bflivl ~ 

Ex = Acos(oot ± kz} 

Hx =0 

Ey=O 

H Y = Bcos(oot ± kz) 

Plane monochromatic waves are propagated parallel to the z-axis in both 

positive and negative directions . At the origin, the field strengths are given by 

E x = Acos(wt ± kz) 

H x = 0 

E = 0 y 

H y = Bcos(oot ± kz) 

Calculate the mean intensity of the radiation in each of the two directions in 

terms of A, B and the constants of the medium. 20 

(b) <n1 ~ ~ ~ ~ 1klchlll <WT -ij ~ ~' ~ ~ 1klchlll a):n -ij ~ ~~ 

-mt tl 
Show that the energy stored in a plane electromagnetic wave is equally divided 

bet-Neen the electric and magnetic fields. 

(c) ~ 12-rfm ~ ~ ~ ~ qffit 151f.ld'$\"1 ~~~I~~ cfiT ~ ~ ~ 

~ t ~ 15 MHz 1R <nffi ~ ~ Cf;l l1R ~ t? 

20 

A lossless transmission line with air dielectric is 12 m long. What is the line 

length in wavelengths and what is the value of the phase constant~ at 15 MHz? 10 

4 



4. (a) 1J.Cfi fiRhlllriOJCh >ICitTCh (OP-AMP) Cf>T wWr ~ ~ "Q.Cfi ~ fliil<hd<h <fiT ~ ~ 
~ ftrun: ~ 20 dB~~ w = 10000 rad/sec iR ~ ~ ~ ftr&"l: ~ ~ 3 dB 
tflll m \j["[(fi ~I 0·0 1 ~-tF ~ l;Cfi "fimfu! <fiT m chlN1tJ> I 
Using an OP-AMP, design a lossy integrator whose peak gain is 20 dB and 
the gain is 3 dB down from its peak when w = 10000 radjsec. Use a 
capacitance of 0·01 ~-tF . 20 

(b) 8 V c€T f.rm ~ m1f Cfi"G ~ ~ 7805 IC cor m ~ ~ 1% ~ ~ Cfif 
~~I 
Design a voltage regulator using 7805 IC to get a voltage output of 8 V. 10 

(c) ~ ~ f.!T::;J--mq; ~~ ~ CfiT :m'~ ~ ~ ~ mCJfu 1 kHz m I ~ 
~ C=O·l ~-tF. ~~ a=1·414 ~I Ri cnt 10 kQllR~I 
Design a second-order low-pass Butterworth filter having a cutoff frequency 
of 1 kHz. Choose C = 0·1 ~-tF. The damping factor a is given to be 1-414. Choose 
Ri as 10 kQ. 20 

~-B I SECTION-S 

5. (a) lfRCfi TTL ID\ ~ ~ ~ RJ({ cfrrorr "q"{ffi, f.lrP:! <r<fi 1 ~ ~ ~ f.rfij <r<fi 0 ~ ~ 
en)~~~ 

Specify power supply voltage range, output logic 1 level voltage and output 
logic 0 level voltage for standard TTL gates. 10 

fbJ ·~ ~ -B 3Wf>R ~ ~ ~·. ~ ~. ~ ~tr.tt. m-m ~~it~ mu 
.~ (universal) ~ Cf>T m ~ men ~? 
Why are 'high power to size ratio machines' like mixer, hand drill, vacuum 
cleaner, etc., using DC universal motor? 

(c) DC- DC qf(Clfd~ -q ~ '5l<fiR cfft Sfil6 <fiT >f'41rr men t, ~ ~I m ~ fcfi ~ ~ 
Sfi16 CfiT m ~ ~ men ~ 1 

Specify the type of core used in DC-DC converter and explain why iron core 

10 

is not used in it. 10 

(d) ~ ti4<~lil:SI~'i ~ -q ~ '*'HIAddl ~ mll cfft \ifl'(ft ~? 
How is good selectivity achieved in a superheterodyne receiver? 

(e) 't1;<h 4 x 1 IOJ<;i\~«<i( CfiT ~ ~ ~ F =A· B cnT fsn~IFClct ~ cfi ~ ~ ~ 3lfu9 
~I 

10 

Draw a block diagram to implement logic F =A· B using a 4 x 1 multiplexer. 10 

5 [P.T.O. 



6. faJ 6~~~~Cfilmm~f.tqfftffilct~~q;rMsP~~~: 

F(uvwxyz)=L(0,1,4- 6,11,14-17,20- 22,30,32,33,36,37,48,49,52,53,59,63) 

Determine the MSP form of the switching function 

F(uvwxyz)=L(0,1,4-6,11,14-17,20-22,30,32,33,36, 37,48, 49,52,53,59,63) 

using 6-variable Karnaugh map. 

fbJ ~ ;jiljSfl~Cfi ~ m ~ H*r 1 ~ Cf.Uft t ~ atCli G1 o ~ ~ 1:% ~ 1 31"~ atCli 
G1 1 ~ ~ ~ ~ o m-m t1 ltr ~<fit~ 31effm ~ "5fffi ~~ 
A sequential machine produces an output of 1 only when exactly two O's are 
followed by a 1 or exactly two 1 's are followed by a 0. Determine the reduced 

20 

state table of the machine. 20 

(c) 1iR ~ fct; "ct'cfi ~ (0) ~ i I ~ ~ fct; ~ (INCLUSION} "[R ~ ~~ 
f.rqfuJ ~ il 
Assuming that logic 0 is available, show that the INCLUSION gate is a 
universal building block. 10 

7. (a) ~ ~-~ qf{ouf'!51 cit,~~~ 3: 1 i, 110 V 51f'!IICIJf mu ~ "« ~ 1l<IT 

i I ~ ~ ~ ~ lR 1 A ~ tmT "ffirr i ~ ~ 85% "G~ U ~ cit ~ "5IGR <fi{ffi 

i I <lR qf{ollf'l51 <fit~-~ tmT 0-43 Am, (fGl' "l1pl' ~ lR ~~~~~I 
A single-phase transformer of turns ratio 3 : 1 is connected to 110 V 
AC mains. It draws a primary current of 1 A at unity p.f. when delivering 
power to a load with an efficiency of 85%. If the no-load current of the 
transformer is 0·43 A, determine the p.f. at no load. 20 

(b) ~ m ~ tmT lfW:, ~ Gl SCR ~ m, ~ ~ WB ~ f.t<i;rur ~ ~ SCR-31lmfuf 
~ qftq~ q;r ~~~I lflR <til 'C%-~ 51('<liCIJf tmT ~~~~I 

Draw the circuit diagram of SCR-based control circuit for full-range speed 
control of a shunt DC motor using two SCRs to run from single-phase 
AC mains. 20 

(c) ~ ~ it MOSFET ~ -rn ~mfur q;r 'f<n ~ i \ifGi ~ '3'0'.f ~ <fit ~ ~ 
· ~it wWT M 'ifRfl t, ~~-~~~DC-DC qf{ctfd51? 

What is the effect of gate capacitance of MOSFET in driving circuit when it is 
used in high-frequency power switching applications like sine wave inverter or 
DC-DC converter? 10 

8. (a) ~ ~o 't!,lfo (FM) ~cit Olffli M 1l<IT i V(t} = 10sin(108 t + 15sin2000t) ~ IDU, 

~ t m 'ij 61 ~o ~o (FM) crirT t ~ q;) 'ffiO ~I 
A certain FM signal is represented by V(t) = 10sin (108 t + 15sin2000t) volts, 
where tis in seconds. Find the parameters of the FM wave. 

6 

20 



(b) ~ ~ fcfi clt.R-6'fq; (Wiener-Hopf) ~ ~ o,:fi OlfiCit:lftCfl irnT ~ ~ ~ 
~o ~o 3ffio (SNR) ~ it I 
Show that the Wiener-Hopf filter is practical only when the input SNR is small. 20 

(c) ~ ~ fcf; ~o ~o (FM) 31-f~ it ~ ~ ~ ~' l!;o lJ:1io (AM) c€1 WHi it 3fCm 'flit men ~I 3=ftR fqi)Cfi(OI t ~ ~ ~ ~I 
Explain why signal to noise ratio is better in FM receiver as compared to AM. Draw suitable diagrams in support of your explanation. 10 

*** 
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SECTION-A 
Q. l(a) (i) lfPR ~ ~ ~ <:pff<fl{OI ~ ~~ ~ ~ cpl-~ JGitHuTY ~ ~ ~I ~B:RI~ll fcF ~U)- ~ iN ~ ~lJ\4)<fl{ul fct;1rr \jff ~ W 1 

Q:'1 (b) 

Giving classification of errors in measurement, explain these errors giving suitable examples. Explain how systematic errors can be minimised. 5 
(ii) ~ mq ctf Gl ~ <i~h'f( ~ ~I ~ mRCrr ~ m\T 1

1 
= 10 ± 0.2A o~ ~ mRCrr ~ I2 = 20 ± o.s A ~ 1 WP<1 um I = I

1 
+ 1

2 
CfiT ~ ~~ 

(i) I 1 o~ 12 ~ -CflT ~ ¥ ~ ~ 
(ii) ~ CfiT ~ ~ ~ .~ 
qftonl"l ~ f?:u1uft ~ 1 

A circuit consists of two branches in parallel. The current in one branch is I
1 
= 10 ± 0.2 A. and in other is 12 = 20 ± 0.5 A. Determine the value of the total current I= 1

1 + I
2

, 
(i) considering the errors in I

1 and 12 as limiting errors, 
(ii) considering the errors as standard deviations. 
Comment on the result. 

5 
'Q% -aR ~ qrc;fi 138-kV ~ · ~ 49-MW m<: ~ 0.85 q~:qllll"ll mfc:ffi Tfcfi "« ~ 

T 

1ft~ 1 80 km ~eFT~~~ ft~ z = 95 L78°0 o~ Y = 0.001 L90os I ~ll"ll~li-T -qftqq <m m m ~~ lTURT ~ 
(i) Line if; A, B, C o~ D ft~ 9ft 
(ii) m-ftru 
(iii) ~l>fUT-ftru uru 

(iv) m-ftru mfcffi TfcPI ~ 
(v) ~ G~l 

A 3-phase 138-kV, transmission line is connected to a 49-MW load at a 0.85 lagging power factor. The line constants of the 80 km long line are Z. = 95 L78o n and y = 0.001 L90° S. Using nominal-T circuit representation, compute : 
(i) The A, B, C and D constants of the line ; 
(ii) Sending-end voltage ; 
(iii) Sending-end current ; 
(iv) Sending-end power factor ; and 
(v) Efficiency of transmission. 10 

· &-::BRl-18-rmra 
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Q. l(c) (i) "Q,Cfl JOil~il<f;'~n cfi 91¥fe1Cfl qi~Cflctl Cf1T ~ ~ ~ fffQ: m<F ~ ~ 1 ~ 

~ (1~ Cfil ~~ # quf";f ~I 

Draw the block diagram indicating the typical architecture of a microcomputer. Briefly 

discuss the salient features . 
5 

(ii) JOil~i'l~1e{"l< "Cfl1 m ~ ~. ~ ~ G( ·qffiT crf m ~ ~ ~ ~ ~ ? 

'O' ~ "Cfl1 m ~ ~ ~ crtfOO" 1{rt 1R ~ ~ ~ f*m ~ tfCtidT ~ ? 

How can square wave generation with a variable bit rate, be done using the 

microprocessor ? Output should be available on a chosen port, using bit '0'. 5 

Q. l(d) f1H~Rcid 'c%• q?f 11ft~ ~ 

Ci) 'm arq' 11R 

(ii) 'Me' ~ 

(iii)~~~ -om 
(iv) 'Me' l1R 

~~ AA ~ fffQ: I 

Define the terms given below ·: 

(i) Pick up value 

(ii) Reset time . 

(iii) Operating time and 

(iv) Reset value 

for protective relays. 
10 

Q. l(e) f1tl~?tOI ~ # ~ Z~ frTm "Cfl1 ~ am quf~ ~I 

State and explain various test inputs in control systems. 10 

Q. 2(a) ~ ~ ~ f1~-?IOI ~ ~ m<f:; ~ 

Using the Block diagram simplification method reduce the block diagram of the following 

control system 

C(s) 

s + 1 

eFT, m<f:; ~ {1(\'I~Cfl(OI fcJfu "Cfl1 m ~ ~ f1+=1~f<clC1 ~ ~ ~ ~ # 

.. ~;:[1<{) (01 ~ : 

to a block diagram of the following type : 
20 

t---...._--7 C(s) 



Q. 2(b) 1J,Cfl ~ ~ ~ 3Tfumu ftR CFT Cfiffi-um (VI"~ ~ : 
Time-current characteristic of an indu_ction-type overcurrent relay is : 

I m-aN cfi ~ 
I (Multiples of pick-up) 2 4 6 8 10 12 14 16 20 Tm-
T (Seconds) 10 5.1 4 3.4 3 2.8 2.6 2.5 2.4 

1J,Cfl 5 -~ftq ~ { M err ~ cprc;r mer CflG1 % ~ 'fiR1 {:P'lll:jl \J1 1 125% <fiT ~ 'ijtrr 
TMS 0.6 ~ I 1ffi' ~ -qftqq '6- C.T. 3f-J,Lfffi 400/5 ~fT:ql:l { -B- ~ ~I 1J,Cf ~ ~21 ~ ~ UTU 4,000 ~fl:ql:l { m I 
It is desired to determine the time of operation of 5-ampere relay having a current setting of 125% and TMS of 0.6 connected to a supply circuit through a C.T. ratio 400/5 ampere when the circuit carries a fault current of 4,000 amperes. 

20 Q. 2(c) (i) ~ ctm ~ 'llR 1JCmJ 3TUI<A" cfi fW:; ~ m ~ ~ CFT ;:pffct;{ol ~I • Classify different types of buses for load flow study in power systems. 3 (ii) ~ f1{~1i91"'i if ltfilld'l~ fcl<norY • ~z"1'-~ ~ ~ ~ ~ 1 Discuss formulation of Newton-Raphson method with mathematical details in polar co-ordinates. 

7 

Q. 3 (a) ~ CFT frp:j ~ o 1 ~ ~ • cf; ~~ -qftqcf"'i' (~ 3ITffi.cr) 911 31-'1' d <t> 1 ctl1 ~ P1 Cfi <: "1' ~ ~ 1-r:fT ~ I ~ ~ 911 3tcf{uT ~ mcf ~ I 
The asymptotic approximation of the variation of gain with frequency of a control system (Bode Plot) is shown below. Determine the transfer function of the system. 10 

~u dB 1t i 
- 6 dB/octave Gain in dB 

A-BRl-m-rmra 

--6 dB/octave 

100 

- 12 dB/octave 

W (<1"j)l (O(Cf>"l4 lTIG") 
w (log scale) 



Q. 3(b) (i) ~ ~ ~ cF ~ "ifiTIUT Cfm iRf ~ C'TZ!T ~ ~ fcp ~ mfcffi-TftP CFT 

Pi {I Cfi {O I ~ -sr<flR fctiliT UfT WRIT ~ ? 

What are the main causes of low power factor and discuss measures by which low 

power factor can be avoided ? 
1 0 

(ii) ~ ~~ 20 kW ~ 0.8 q~i'PIIs:ft mfcttr TfcP ~ Bm ~I \Rf ~ ~ ~uR 

~ ~ ~-~ "<fiT 0.95 q~T.Illlsotl CfCf1 ~ UfT wF I 

A consumer is taking a load of 20 kW at power factor 0.8 lagging. Find the rating 

of capacitor to raise the power factor to 0.95 lagging. 10 

Q. 3(c) ~ 11-kV, 50-Hz ~ ~ 'm"( "<fiT mfcttr ~ Cf){ m m cr'4T cf?r if cfi;l-~ CFT ~ 

~ it T!1IT 1 ~ ~ m cf; ~ stRl't11C1 crm mfurr ~: 4.0 ~ crm 0.01 1-1F 

q 0211 1JfuU~ ~ m I TfURT ~ (a) ~ ~1: ~ cflc-<::ctl (b) ~1:'C1Rft- ci'h·cCI I CfiT • 

fmcn: +n1 (c) ~ <?1ct"iCfil {) cfl<-cdl ~ ~ ~ (d) :;1:'C1Rft- q"'kcCII ~ affiRf <\'lq,lfi {) 

G\ ( 3TR 3lR 3lR eft) <ITR;ff cF '1~ ~ CfCf1 I 

An 11-kV, 50-Hz generator was supplying power to a load when a three-phase fault 

occurred on the system. The inductive reactance and capacitance of the faulted section 

were 4.0 ohms and 0.01 JlF respectively, and the resistance was negligible. Compute 

(a) the active recovery voltage, (b) peak value of the restriking voltage, (c) the frequency 

·of transient oscillatory voltage ·and (d) the average rate-of-rise of restriking voltage (RRRV) 

up to the first peak of oscillations. 
20 

Draw a functional block diagram and explain the working of a digital frequency 

meter. 
10 

(ii) ~ ~ l1fi1C!1 crm ?!111t:(~ ~ 11f"Cfcfi <f> ~ crm !4~C'IIS!Cfi "<fiT ~ ~ ~ CFT 

crrf1 ~I 

Describe the circuit and working of a wave analyser for audio frequency and Megahertz 

frequency. 
1 0 

Q. 4(b) ~ "Y<R ~ C'TZ!T ~ ~ ~ CFT Cfi"R'f-~ 3Tfficr ~ TIZ!T ~ 9in'f-~ cF 

~"<fiT~ ~I 

Draw the timing diagram for memory read cycle and memory write cycle and explain the 

significance of the time periods therein. 10 

•-••,-•..,.r• 



A systematic (7, 4) linear code has the parity matrix P given as : 

1 1 1 

1 1 0 
[P]= 

1 0 1 

0 1 1 

(i) ~ ~ 1000, 0001, 0010 aqJ 0111 <F ~ ~z ~ 9>l ma-~ 1 

Find the code vectors for message vectors 1000, 0001, 0010 and 0111. 8 

(ii) d~'j)tll'l ~~ 31Th.cf ~I 

Draw the corresponding encoding diagram. 8 
\ 

(iii)~ )ITqf m=ffi [0111110] #~~~ciT~ Cf>l tl·~d ~ 'd"m ~ f.1\l<fi(OI 

~I 

If the received vector [0111110] has a single error, detect the error and correct it. 
4 

SECTION-B 

Q. 5(a) (i) 1J!'fi f.1lj~UI a'?f cF ~ ~q # ~'1 ~ ma-~ ~ 

Determine the break-in point in the root locus of a control system with : 

G(s) H(s) = K (s + 2) . 
(s2 + s + 10) 

(ii) f.1 ti5~ 01 a'?r * ~ : 
For the control system : 

K 
s(sJ + f) 

C(s) 

f = I o-1 Newton m per rad/sec 

J = 5 x Io-3 kg-m2 

~ "9CfOT ~ cF ~ ~ 3ICffm ~ 0.01 ~ I K CFT 1lR ~ ~I 

5 

the steady state error for unit ramp input is 0.0 1. Determine the value of K. 5 

a-aR&-m-r•r• . 6 
1¢1. 



Q. 5(b) ~~frl~~ft ~flfrl ;ii ~ cr::rr 3tt<:Jil01Cfi~' ~ ? 4 ~ ~ ~fiPi ~ CfiT m ~ ~~ ~ at11Cfi( 
~<-ctl~~ fcl1 R-X ~ ~ ~~ B&=fUT ~ ~ cit ? 

What is the need for a multi input comparator ? Show with diagrams how to obtain the 
quadrilateral characteristic. in the R- X plane using 4-input phase comparator. 4+6=10 

Q. 5(c) (i) ·~ ~ Cf1T 311,~ ~ 'R ~ eFT cr::rr 3liCI~l:ICfidl ~ ? ~ ~ ~ FSK, PSK 
-?t<Rt~~? 

What is the need for sending digital data over analog carriers ? In this regard how 
is FSK better than PSK ? 5 · 

(ii) ~ \illctsti+i cfi 7 W{ CII~Cfictl cfi ~~ ~ (l·~~ll:ql( ~ ~ (1ft tT "lfJ am 
Wn ~ ~ (~ tf "lfJ ~ ~ "CfiT ~~I 

With reference to the 7 layer architecture of data networks, distinguish between 
Protocol Data Unit (PDU) and Service Data Unit (SDU). 5 

Q. 5(d) ~~~c-~' cf; fm!; ~ tillctcfl wqf CfiT ~·~am~~~~ wm· 
CfiT ~~11\~Cfi cruf~ ~ I 

State various insulating materials used for cables and comparatively discuss any two 
widely used materials. 10 

Q. S(e) 'ttrrftc: <' it 3WT <FIT ~ ~ ? '2:lrrftc: < cfi "9fclilu-~ ~~ ern; "CfiT ~~ ~ 
~ ~~*11~0: crm ~ ~ ·~s:(fcpftl ct' (~IY~))I~) ~ ~I 

What do you mean by Thermistor? Explain briefly resistance-temperature characteristic 
curve of Thermistor and compare the same with thermocouple. 1 0 

Q. 6(a) (i) ~ qlc-C: +i14"i <FIT ~ ? 

What is a digital voltmeter ? 3 

(ii) 3T1~ ci'l c-C:~ Iq) efT WRT ~ ~ 'FIT ffi~ ~ ? 

What are its advantages as compared to analogue voltmeters ? 3 

(iii) ~ ~ cf; ~ ql c-C:l1 1fill1l. (DVMs) eFT ~ ~ ~, ~ ~ CfiT mu l1TCf1" 

cf; fm!; quf~ ~ I 

Listing different types of DVMs explain any one type for the measurement of current. 

4 

Q. 6(b) (i) ~@~~ DAC 1200 Cf1T 8255 ~ 3t.d(~IS61 ~ ~ "'T WfldT ~ ? ~ ~~I 
tc~Pl <N. Cf1T ~ cfi fm!: f[cf) ~ CfiT m ~ 1 

A-BRl-m-rmra 

Show how DAC 1200 can be interfaced to the 8255. Write the schematic diagram. 

Use 'double buffering' to prevent glitches. 

7 
:Q. 

14 



Cii) 12 m Cfi1 ~~ \ill err ~ qR1 w~ ~ ~ ~. 'm1T (i) ~ ~ ~ 

DAC ~lS6iCfi"1 , "CfiT "f~ ~ ~ fut; 8085 ~f4cl:;r ~I -rrg ~ fcti ~ ~ . 

CfiT tffiT HL ~ ~ ~ ~ I 

Write 8085 subroutine to transfer 12 bits of data stored in two sequential memory 

locations to the DAC interface carried out in part (i). Assume that the address of the 

first byte is stored in the HL pair. 6 

Q. 6(c) (i) DPCM ~ PCM ~ ~ ~ ? \341$<:orf ~ t!A~I~~ fcti ~ DPCM ~ "CfiT 

"\30Ff ~ \iflOT t om ~ ~~ ~ mcrr ~ ? 

How is DPCM better than PCM ? With the help of illustrations, show how DPCM 

signals are generated and decoded. 10 

(ii) ~ m if ~ lJiT *l~rft ~~~~~I ~c ~?1<i ~ 

(a) 3fcW1T ~ ~ Cfi1 ~ ~ ~ ~ ~ ~ 

(b) ~c-~&r "CfiT ~ 1 

Consider the convolutional encoder shown in the figure below. The code is systematic : 

(a) Draw the state diagram using the State Transition Table 

(b) Draw the Code Tree. 

~ 

Input 

col ~ 
f • Output 

c<2l 

10 

Q. 7(a) (i) fct"f~ l=fTCA" ~ ~~ ~ 'f{ GW ~ <;_it~s,~(;l_ <: ~ OPAMP CfiT m ~ m 
Cl'ffi 3lfctm 1JCr$ri ~ c:wf~ollctl 'liT "f'16C ~ 1 

Describe the functioning of a charge amplifier using an OPAMP with piezoelectric 

transducer used at the input for measurement of displacement. lO 

(ii) 3lCRuT ~ ~ ~ "Cfi) c9)~qr1 ~ ~ ~ ~ 311,~ cpl ~ ~ ~ 

CfsF ~I 

A-IR&-•-rara 

Derive the expression for the transfer function and draw its curve showing frequency 

response. 
1 0 



Q. 7(b) (i) 8086 cfi ~ ~ cfi ~lRUTI Cf>'T ~ ~~I 
List the features of 8086's segmented memory. 5 

(ii) 8086ll ~ 11cfT ~ ~ tft ~ ? ~ ~~ cpT ~~I~~ cfi 
~ cp) ~~ 'MOV' cp) ~ \3Gig{UI l1R I ~ ~ cfi 9a"tCfli\J1Cfl B"cf>a·1'i cp) 
~~I 

What are the different addressing modes available in 8086 ? Indicate their features. 
Write the mnemonics for each of them taking 'MOV' as an example. Indicate the 
symbolic notation also for each of them. 15 

Q. 7(c) ~ crm<fi ~ cfi, ~ ~ ~ <tl :iitm 'fm ffi'li ~ ? ~ BPSK m cF ~ 
llfUia"t~ Wf f4CflRlC1 ~ 1 

What are the advantages of digital carrier systems over Baseband digital transmission ? 
Develop the mathematical formulation for a BPSK signal. 10 

Q. 8(a) -~ P!ti';!OI ~ cpT amm-3fCf<fiWT Bli"tCfl{Ufr ~ Clfc.ffi ~ : 

Xt = x2 

Xz = x3- ui 

x3 = -2x2 - 3x3 + u2 
"C1"2ll ~ Bli"tCfl{OI ~ : 

y1 =xi + 3x2 + 2ui 

Y2 = x2 
3fcW1T ~ ~ 1JCm? 1JTCf1 <Fr ~ "C1"2lT ~ <F ~~ ~ <Fr mer ~ 1 
A control system is represented by the state space equations : 

Xt = x2 

x2 = x3 - ul 

x3 = -2x2 - 3x3 + u2 
and the output equations are : 

y1 = xi + 3x2 + 2u1 

Y2 = Xz 
Draw the state transition signal flow graph and find the characteristic roots of the system. 

20 
Q. 8(b) (i) ~ "h.ctlfil'll. <tl (H$1l!C11 it HVDC ~ ~ cF cpff'fl{ol ~ ~ ~I 

With the help of single line diagrams, discuss the classification ofHVDC transmission 
links. 14 

(ii) ~ ~<111\JOlCfl ffi'li 1J;'i ~ eFT ~I 
State their comparative advantages and disadvantages. 6 

Q. 8(c) ~ ~ ftff 'fiT ~ ~ ~ "d"m ~~ ~ <F "1lll ~ 1 
Draw the block diagram of a Digital Relay and name all the blocks of this relay. 10 

A-IRl-•-r•fl 


